Year 5 Maths Challenge 22nd June—Questions




| er Problems — Answers and Notes

at four stations takes 4 x 45 sec = 180 sec = 3 min.
28 minutes between 10.37 and 11.05 so the train is
or 28 — 3 = 25 minutes.

1 half a mile in 3 minutes, and so 1 mile in 6

s of the track make 1 km so 120 circuits make 30 km,

s in November; that is 4 weeks and two days. So
r is on a Wednesday.

le to amaze their friends by calculating the day
ihead. There are normally 365 days in each year.
eeks and one day. So, unless it is a leap year,

- will be on the next day of the week in the

ten years ahead, a b1rthday will be ten days

f leap years in these ten years.

1I :'(35 yrs), Henry III (56 yrs), Henry IV

yrs).
| 'taln may have been on the throne
our present queen been on the

ells us that 15 =3 X #
er to use trial and error!

um ‘ er of letters in its
 this condltlon is 4.



